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HX 40,038 86,222 41,097 45,125
RIRET1T 6 15 9 6
RIRET2T 26 56 26 30
AIEET3T 181 585 286 299
RIRET4T 400 960 478 482
B 613 1,616 799 817
REH 2,676 5,997 2,791 3,206
L&A 4,318 9,437 4,379 5,058
5E 2,648 5,924 2,870 3,054
B AN 1,312 2,853 1,339 1,514
BERT 1,380 1,957 955 1,002
BER2T 763 1,373 659 714
BERST 632 1,493 718 775
B 2,775 4,823 2,332 2,491
BEXRE 277 654 318 336
= 2,202 4,956 2,350 2,606
hERE 645 1,433 664 769
e 2,476 5,083 2,447 2,636
25 L ET 2,348 5,103 2.441 2,662
B &AL BT 76 152 63 89
HEFILET1T 563 1,204 561 643
HEFILET2T 614 1,279 598 681
HEZFILAT3T 649 1,485 734 751
g 1,902 4,120 1,956 2,164
B & it B Fr ET 686 1,550 747 803
BHEREBET1T 580 1,177 568 609
BHERERET2T 772 1,743 838 905
BHERERETST 782 1,593 725 868
BHERERET4T 515 947 447 500
HEKERETST 841 1,689 805 884
HEERET6T 872 1,899 922 977
BHERERET7T 890 1,863 922 941
HERERETST 69 207 101 106
£t| 5321 11,118 5,328 5,790
HEF R FET 1,978 4,123 2,012 2,111
S|EFET1T 626 1,579 787 792
S|EFET2T 767 1,741 814 927
S|EFET3 T 737 1,388 641 747
g 2,130 4,708 2,242 2,466
ERE1T 577 1,309 628 681
EIRET2T 384 1,029 513 516
EREIST 516 1,343 657 686
EIRETAT 691 1,467 652 815
EIZEIST 528 1,095 559 536
g 2,696 6,243 3,009 3,234
ME A 2,921 6,272 2,978 3,294
J\THET1T 37 39 15 24
J\THET2T 26 58 30 28
J\THEI3T 51 112 50 62
B 114 209 95 114
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